BC Calculus – FDW 3rd Edition – Section 4.5 Even Answers
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Quick Review 4.5
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Section 4.5

2.(a) 
[image: image3.wmf]9

4

55

()

Lxx

=-+

 (b) error < 10-3
4.(a) 
[image: image4.wmf]()

Lxx

=

 (b) error < 10-2
6.(a) 
[image: image5.wmf]2

()

Lxx

p

=-+

 (b) error < 10-3
8.(a) 
[image: image6.wmf]»

1.2, 
[image: image7.wmf]1001

1.0021.210

-

-<

 (b) 
[image: image8.wmf]5

3

1.003, 1.0091.00310

-

»-<


10. Method 1/ Use 
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(b) 
[image: image11.wmf](

)

(

)

(

)

(

)

1

1

1

2

2

2

2

1

222

11

24

22

222221

x

xxx

-

+»+=+=+
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Method 2/ Factor out (divide out) to make the first term (or ‘a’) equal to 1, then use: 1 + nx

A problem like (c) is already to go! For (a) and (b) factoring out 41/3 or 21/2 may be tricky!
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(c) No factoring here! 
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So? Well… if our binomial is of the form (1 + b)n vs (a + b)n, then method 2 is best!
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 (Why six decimal places? Why?!?)  
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BC Calculus – Section 4.5 Even Answers (continued)
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50.(a) within .5%  (b) within 5%

52. Measure the height to within 1/3 % of ‘h’.
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 which is the surface area error in in2.
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  (b) T decreases and the clock speeds up. dT & dg have opposite signs  (c) 
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58. False. Recall the product rule: d(uv) = udv + vdu  60. A  62. A  
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     (c) They appear identical.  (d) 
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68. Formulas for differentials? Just multiply the derivative formulae by ‘dx’.

70. The error is zero at x = a. The error is negligible when compared with (x – a).
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